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Note : Four possible answers A, B, C and D to each guestion are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Agriculture is included in economic activity P by o u/';/ b JEE sl 1 -1
Secondary activities u“i./)}//d:‘t‘ (B) Primary activities uV//dbvf (A)
Quaternary activities uw’;g‘-':}’ll‘(ij) ' Tertiary activities uw/du‘ ©)

In Pakistan, what percentage of I urﬁrceols wOrkmg i (RN T}, & o- ul.ft 2

in agrlculture j‘;’
44 37 % (D) w4

4430 % (B) 420 % (A)

Durand line is a border betwe
Pakistan & India =4
Pakistan & Iran u!/IJL

. A - M/\.L/JU.;;J%’53
%ﬁa#n&cma A (A
P

a!(‘s;éﬁ & ighaistan gsItl (C)

Pakistan Railways Headquarter is Iocated\ﬁ\\ ;'&' (? du I € e sks ul.ft 4
Karachi {, s (D) L.ahore uxy (C) Peshawar »é (B)m‘*“ R,awalpmdl Sxdsts (A)
Pink collar workers have been included in : gr"a,_\‘ Whg l:Lp VJe S K L
Secondary activities u_i(/;d;? (B) F‘nmary actlwties uL—v/dLvl (A)
Quaternary activities uy)}u‘fﬂ D) Tertiary activities uv//dw‘- ©)

What is the percentage of warld's population involved in :.:‘:_bﬁac.w:')}dudﬂ,l v Z L,( Yrle
agricultural activities :

4 25 % B) 4 48 % (C) 490 % (B) 410 % (A)
Modern canal system started in Sub-Continent in : e SCTE P8 S e S AT
%900 A (D) ,1890 AD (C) 1885 AD (B) ;1859 AD (A)

Which ofthe following is a geographical factor : < JL’I/" bl e kP o d £ 3855 8
for industrial growth :

Skilled force =8 les (B) Capital - (A)
Planning St (D) Location &5 (C)
WAPDA was established in : _ 26 L ol rUE Ikl
1970 AD (D) 1959 A.D (C) £1947 AD (B) ;1949 AD (A)
The highest producer of iron ore in the world is : T b O I DL g Il U0
US.A. oI 2y (D) China % (C) Australia Lk T (B) Brazil Sz (A)
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Equatorial rain forests are located in :
© kF 15°-20° Lattitude (B)

J‘LLf/" 50° -55° Lattitude (D)

Ll oy =l G G
A fF 0°-5° Lattitude  (A)
Jzu;ff 30° -35° Lattitude (C)

1141

Coal has played a vital role in the development of ;
Shipping development Jb)bg (B)

Transportation development J":J‘:,.«

The cheapest electricity energy res e i

Coal ¥ (D)  Mineral oil d»;( )

4

Sardine is a kind of :

Sheep (# (D) /° Mifetal Susr @)

e WS G kG L

ltural development 3785 (A)

- & FBEr e o ¥ (F
Hydel electricity Lﬂ{ (A)

T f ».g e/l
ish J€ ®) Plant e 3J(A)

& i .
Area of Pakistan is,; .~ % e
. . ..}‘ *

HEEG60

JFE, 205844 sq.km (A)
KL 840249 sq.km (C)
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( PART -1 Jj )
12 2. Write short answers to any SIX (6) questions : 3 é =R /:? L =y (6) £ < JJ( 2
(i) Define commercial geography. -gf ...y/? g S22 Jx_b’ (i)
(i) How is commercial geography S wny d_.’ e L L Ly R J;.V" (ii)
beneficial for commerce students?
(i) What is plankton? e | u*'ig (iii)
(iv) What is meant by herding? e ar Y e LK (i)
(v) Write two benefits of forests. - 4F 30 L g (v)
(vi) Why is Antarctica un-inhabited? ‘e ud \TE K00 (5’!/. (vi)
(vii) lron is used in which industries? fe b & U u( i1 ¥ v (vii)

(viii) What is the importance of chemical fertilizers ?%.M]“JJUJ)JJH/éL{;}JJJ (viii)
for agricultural development?

(ix) What is meant by industry? ®© i« e (iX)
12 3. Write short answers to any SIX (6) questions : 4 Ol 4 /‘“? L =iy (6) g & Jf -3

(i) Choose the dairy farming centres of the worlgd! ?ugukf s PS5k Um s (i)
(i) Name out the country with least Sus/si & dudbis S § o & b 7 £ s (i
wheat production in the world and'why?
(iii) Explain the suitable climate requifed Ses ks Us! s T Usir & £ =26 § Sl (i
for cultivation of rice.
(iv) In which country first naturalfubber L v =3l < 5y oo S L u"/ L Ls (iv)
plant was discovered?

(v) Compare the typesiof iren‘ore. ‘é il § L g e (v)

(vi) When and Whiéh Scientist discovered uranium ¢ =3l oS oy L FL o (i)
in the world?

(vii) Write down major oil exporting ?pgc.ufufJ Wlisd SaTeJe ne e B (vii)

gountries in the world.
(viii) ‘Mo many countries the natural gas ?ugfussﬁff_uf S Ll VE L s (viii)
reserves in the world? .
(ix) How much population was present in the (% o"(S;LTJ sl Eniell 2016 (ix)
world according to 2016 data?
12 4. Write short answers to any SIX (6) questions : : é’ AT 4 /'3 L =iy (6) 4 & Jf -4
(i) Pakistan is divided into how many parts e U= & e sUL Jess 5L ()
according to physical features?
(i) What is the role of forests in e S U et ot 856 S uell G
the development of Pakistan?
(iii) What are the main rice growing ~ Suf = of L (01 £ =26 § b UE 0L (i)
areas in Pakistan?
(iv) Write any two physical I E e & L Lt S oy Lol )

factors for cotton cultivation in Pakistan.
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4. (v) Why is the trend of solar power increasing ?Ur..r-«f_ Vs ok S § Jﬁ Js‘ e c)l:‘/!; (v)
in Pakistan?

.,_é ,_/f“ A3 £ L8 =30 (Vi)
_.“é Uk Hilnse ¥ UW/L (vii)
(viii) What do you know about Tarbela Dam? 0t 2l T ek & 5 ke (Vi)

(ix) What are the main wheat growing St = of &tb (A1 £ =¥ J (»‘f Sl (ix)
areas in Pakistan?

(vi) Give two benefits of tree plantation.

(vii) State the boundaries of Pakistan.

( PART-II ¢» =)
2 e ety f e B e

Note : Attempt any THREE questions.
ke I U1 S el A dU

8
5. Explain in detail the types of human economic activities. :
8 —.édkﬁJJl/ﬁld.bL/lﬁpﬁﬁu:g;

6. Describe major wheat producing countries of the world.
8 7. Write a note on the global production of gold. = ,/,77 L 4 Mg Soko § i
8 8. Write a note on the sources of irrigation in Pakistan. - £ (fi_.;.f' él';s L uw:g
oy f S ol s S LT e ool

9. Discuss over population problems ingPakistan dfd give their solution.
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